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QUESTION 1

Which of the following is NOT a traditional debugging feature used to help find errors in a VI: 

A. Highlight Execution. 

B. Single Stepping 

C. Breakpoints 

D. Stop Values 

Correct Answer: D 

 

QUESTION 2

Which combination of words correctly completes the following statement? 

Unlike __________, which display an entire waveform that overwrites the data already stored, ___________ update
periodically and maintain a history of the data previously stored. 

A. Graphs; Charts 

B. Charts; Plots 

C. Plots; Graphs 

D. C harts; Graphs 

Correct Answer: A 

 

QUESTION 3

Which of the following cannot be used to transfer data? 

A. Local variables 

B. Queues 

C. Semaphores 

D. Notifiers 

Correct Answer: C 

 

QUESTION 4

Which of the following Block Diagrams could produce this result in Waveform Graph? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: A 
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QUESTION 5

What is one disadvantage of using the State Machine VI architecture? 

A. A State Machine can only traverse states in order 

B. If two state changes occur at the same time, only the first state change will be handled and the second will be lost 

C. The diagram becomes significantly larger when changing from a general architecture to a State Machine 

D. State Machines cannot acquire data or use DAQ functions 

Correct Answer: B 
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